N 2 0l & AF S E A A
20098 = =0l A L BES|H|
FM: HSIEL
M MsScadg (2L /HK)
o9 MSALANSHEE - 2 Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
=& S 25,475,482 26,961,176 A 1,485,694
s 4,700,000
Il 2,181,372
& 18,594,110

HEScddg (2322 /HS) 25,431,982 26,927,176 A 1,495,194
s 4,700,000
Il 2,181,372
L= 18,550,610

HEANLAXNSHEE - 2L 7,383,000 12,080,000 24,697,000
s 4,700,000
& 2,683,000

EISE2sEAE 1,663,000 2,140,000 A477,000
s 1,470,000
= 193,000

403 TXEMSA201H 1,663,000 2,140,000 A477,000
s 1,470,000
= 193,000

01 XXIEHX=2EX 1,663,000 2,140,000 A477,000
ODE=sg=2sddE 1,663,000
[ 1,470,000
< 193,000

SFAUNS2HE 1,800,000 1,700,000 100,000
s 1,100,000
& 700,000

403 NXIEMSAH201H 1,800,000 1,700,000 100,000
s 1,100,000
= 700,000

01 XXIEHX2EX 1,800,000 1,700,000 100,000
Oa=aids22E 1,800,000
[ 1,100,000
= 700,000

A= Mo ENESLEXAZZY 500,000 0 500,000
s 400,000
& 100,000

403 TXEMSA201H 500,000 0 500,000




SN HSTED
M MSSCANTY (2L
Tl MISAEOXSNES - 22 (el &
= HUE &
SN ZH - H(S) - A Ao Ol AF ot HnE2
403 AHXIEHHIS At s 400,000
= 100,000
01 AXISHMIA=2EX 500,000 500,000
a==ot21&8 71 = 500,000
2 400,000
= 100,000
TFOEXZINZLSEHSAIE 1,730,000 1,730,000
s 1,730,000
403 XXX S A 1,730,000 1,730,000
z 1,730,000
01 ArXI =M A2 1,730,000 1,730,000
OF012x&2] X = Al 1,730,000
[ 1,730,000
ZS0FEAE 1,000,000 1,000,000
403 XXIEHSA=0 1,000,000 1,000,000
01 AXSHMIA=2EX 1,000,000 1,000,000
ZetorEA 1,000,000
BCMENSAIEH 300,000 300,000
403 AXIEHS K= 300,000 300,000
01 AXSHMA=2EX 300,000 300,000
M MER S A 300,000
20| OF PR XY 150,000 150,000
403 AXIEHS A= 150,000 150,000
01 NXHMIA=EX 150,000 150,000
&= 240/ OF 150,000
A=s18xd 150,000 150,000
403 XHXIEHH S K 150,000 150,000
01 KXESHI=EE 150,000 150,000
EREE-RRS 150,000
NI E=EEEH 30,000 30,000
403 XXIEH S K 30,000 30,000
01 AXSHHMA=2EX 30,000 30,000
OgaAolES 30,000




fAM: MEIEDL
M MsScadg (2L /HK)
CHol MSAMOITISREE - Y (el 8 e
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
EESTH(REF)NEEZ 60,000 0 60,000
403 XXIEHSA201H 60,000 0 60,000
01 XXIESHI=2EX 60,000 0 60,000
OSE2EFH(REF)NEES 60,000
2 SHMSEH XS 7,002,500 6,394,750 607,750
EH=E3NA 5,000,000 5,000,000 0
307 QI2t0IA 5,000,000 5,000,000 0
02 2AHAEX 5,000,000 5,000,000 0
OEMSS A HIXI#A 5,000,000
CSHMHAUN =2 XA 975,000 500,000 475,000
307 glz2told 975,000 500,000 475,000
02 2ItAa=Ex 975,000 500,000 475,000
OSZMAHMS2EHI XA 375,000
O HOA M= AFEEI X & 600,000
CHEN=sE2s XA 900,000 800,000 100,000
307 QI2toId 900,000 800,000 100,000
02 A4S X 900,000 800,000 100,000
OCMEN=sEos2Z X2 264,000
O MeNsEAS A SBIX 636,000
ANZMEN=SE2A2S XA 69,000 46,000 23,000
308 AtXIHHMSOIH 69,000 46,000 23,000
01 AUXHHBAEEZ 69,000 46,000 23,000
DAz MEH=sEg2d22gH X3 69,000
ZOHQI X S22 L HI XA (01L) 58,500 48,750 9,750
308 AHXIHHMSOIH 58,500 48,750 9,750
01 AXHHBAE2ES 58,500 48,750 9,750
OS2 X2 (01) 58,500
FolEe At ay 4,100,000 3,800,000 300,000
CHAE2SZEIRSLENE 1,600,000 1,600,000 0
307 gI2tol& 1,600,000 1,600,000 0
02 fltFateEx 1,600,000 1,600,000 0
OEENE2sEIIRsSHdNHA 1,600,000
Al - Z2EAE2SEINRSENE 2,500,000 2,200,000 300,000




EA MEdSH
FH: MSScAdEE (2L 2AZ/HF)
ol DB AIIBEY (E49: & 2)
RA B SA(BH) - NRAY - B 01 e HRE2
308 AXISHMSOIA 2,500,000 2,200,000 300,000
01 AUXHHMBAdE2XES 2,500,000 2,200,000 300,000
OAzddgesgdlIfsdld 2,500,000
HeHs2dedat 2,552,982 2,341,026 211,956
p) 2,156,372
& 396,610
CHEXN =X KB R 20,928 20,580 348
l 10,464
= 10,464
307 elztold 20,928 20,580 348
) 10,464
= 10,464
02 Q22X 20,928 20,580 348
W85 L= NN [ PN 20,928
Jl 10,464
= 10,464
COoHEMNMESESAE 60,928 60,580 348
D) 30,464
= 30,464
307 elztold 60,928 60,580 348
p) 30,464
= 30,464
02 UAHAHEx 60,928 60,580 348
O-o2dM=gshE 60,928
Il 30,464
= 30,464
CEoUENSISAMEXZA 173,664 175,100 A 1,436
D) 86,832
< 86,832
307 elztold 173,664 175,100 A1,436
l 86,832
= 86,832
02 UANFHEx 173,664 175,100 A1,436
Ol dEH S EAME XA 173,664




2H: NSTED
i HSSEAMNNY (2L AZ/MHR)
Chel: METSOE A CLE-E)
SN (B) - MBEAY - B2 Aol Soe HRZ2
J| 86,832
& 86,832
MEH=zNASH 149,818 143,616 6,202
J| 88, 128
== 61,690
308 AXIEHXMSOIA 149,818 143,616 6,202
J| 88, 128
= 61,690
01 XXNHHBIAEXZ 149,818 143,616 6,202
OMsdsnaasdy 149,818
J| 88,128
== 61,690
A2 E X = X = XHH X ,025,472 967,260 58,212
J| ,025,472
308 AXIEHSOIE ,025,472 967,260 58,212
J| ,025,472
01 AXSHHIABEXTZ ,025,472 967,260 58,212
OAlZ2 & = X & XHel X ,025,472
J| ,025,472
ANZHEMHEESIA 345,312 318,990 26,322
J| 345,312
308 AHXIEHXISOIHA 345,312 318,990 26,322
J| 345,312
01 XXNHHBIAEXZ 345,312 318,990 26,322
OAZHEMA=ESA 345,312
Il 345,312
AZEASMENFTRESAISE XA 301,860 387,000 AN85,140
J| 232,200
== 69,660
308 AXIEHXMSOIA 301,860 387,000 A85,140
J| 232,200
= 69,660
01 XXNHHBIAEZEXZ 301,860 387,000 A85,140
OANZ o3 MEMFEEAIS X2 301,860
J| 232,200




SN HMSHED
HE: HSSCHMNY(2ALAB/AS)
Sl MEH SO 25t (e19): @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
= 69,660
ATZIYALALK 233,500 237,500 A4,000
| 197,500
= 36,000
308 RHXIEHHSOIH 233,500 237,500 4,000
| 197,500
= 36,000
01 XXCSHMBLRES 233,500 237,500 4,000
OAZXSYAIBAIS 233,500
p] 197,500
= 36,000
TS 2T Al AN X 2 210,000 0 210,000
| 140,000
= 70,000
308 RHXIEHHSOIH 210,000 0 210,000
| 140,000
= 70,000
01 KASHILRES 210,000 0 210,000
IR S B AL AP X 2 210,000
p] 140,000
= 70,000
COMEHSELEEE 31,500 30,400 1,100
201 Ygreg| 5,000 5,000 0
01 AFR2elt] 5,000 5,000 0
mETEVESEXIE N 5,000
202 01l 20,500 19,400 1,100
01 =Loit] 20,500 19,400 1,100
DS MEHSEH2F 0 20,500
203 ARFXY| 6,000 6,000 0
08 AHZZAL2EY| 6,000 6,000 0
NS MBS S L= 6,000
ASHSUE N2 2,815,500 2,261,400 554,100
| 25,000
= 2,790,500




FM: HSIEL
M MsScadg (2L /HK)
el LASH KOS X & CrERL
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
S ROHQI M EH = CHAM &= X & 105,000 125,000 220,000
| 25,000
& 80,000
307 QIt0IA 105,000 125,000 220,000
| 25,000
L= 80,000
02 BIZHEANEZX 105,000 125,000 220,000
PSRRI =P S Rel 2 3= s =N DAIRS ) ES DN 105,000
I 25,000
= 80,000
2009Z ==HMI0ttEHa X & 200,000 200,000 0
307 2IZ2t0lA 200,000 200,000 0
02 glztFaEx 200,000 200,000 0
[J2009Z == M OtetEU S K& 200,000
SXADI(EN AU ES X 50,000 0 50,000
307 QIt0IA 50,000 0 50,000
02 QtFAE X 50,000 0 50,000
OSXAI(H)ZI el S8 X2 50,000
H2NESH LU EH KR 20,000 20,000 0
307 glztold 20,000 20,000 0
02 BlZtFAE=X 20,000 20,000 0
OX=2INESHLUHAEH KR 20,000
Mez2ld==0tel M= HE K& 150,000 0 150,000
307 2IZ2t0lA 150,000 0 150,000
02 flZtFaEx 150,000 0 150,000
CHI63 & =2=0tel Ml = CHal i = X & 150,000
M2 =0tel M=l & ORI & 20,000 20,000 0
307 QIZt0IA 20,000 20,000 0
02 QtFAE X 20,000 20,000 0
Od=s0t M= H XA 20,000
HIAAEOHZERUE O XA 20,000 20,000 0
307 glz2told 20,000 20,000 0
02 BltFAE=X 20,000 20,000 0




M=&ED
HE2cAddE (2 2E /M)
AEMSHa XA ? A
_ _ _ Muo
SNBSS - MEAY - BES Arol e HRE2
O =AI 2N =S HE X & 20,000
NE2MEMAHOtetEUS I 10,000 10,000 0
307 QI2t0IA 10,000 10,000 0
02 QltF&E=x 10,000 10,000 0
OMES2=2HEMAHDIcIEUSEILRIA 10,000
M473| SR N 23 Y X2 1,500,000 1,500,000 0
308 AHXIHMSOIH 1,500,000 1,500,000 0
01 XXSHHBLAEES 1,500,000 1,500,000 0
OH473 SN 2SI X & 1,500,000
SEX210I0tetEHSI N E X2 30,000 0 30,000
308 NXIHHSOIH 30,000 0 30,000
01 XXEHHBILEXS 30,000 0 30,000
O=EX21DI2EE8=30etEUHS 30,000
HIR2ASHSUHHE X 300,000 200,000 100,000
308 XNXIEHHSOIE 300,000 200,000 100,000
01 AUXSHBAEXZ 300,000 200,000 100,000
OASXSHIOH= XA 300,000
2009= M S LI HEI X2 30,000 30,000 0
308 XXIEHMSOIE 30,000 30,000 0
01 XXSHHBILAEES 30,000 30,000 0
J2009= M S L3I = K& 30,000
=72 U2 N = XI& 200,000 0 200,000
308 NXIHHSOIH 200,000 0 200,000
01 XXEHHILEXS 200,000 0 200,000
OXI A2 HIINEX R 200,000
NHBEAME 20 E X 150,000 0 150,000
308 XNXIEHHSOIE 150,000 0 150,000
01 AXHHBAEXZ 150,000 0 150,000
OMAZEME 2O E X 150,000
AEMS AKX 30,500 29,400 1,100
201 LEH23H] 3,000 3,000 0
01 Atf2teld 3,000 3,000 0
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